Streamlining traffic
on
Hosur Road
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Current plan is to have 3 lanes on each side

Consider the case(left) where there is a right turn on the road.
Yellow car wants to turn right

Vehicles start piling up behind the yellow car. Red car wanted to
go straight, and tries to shift lane

Potential conflict with the straight going cars in the centre lane.
Results in chaotic traffic and in general slow down

Similar possibility exists for a left turn (eg: blue car)

So even though there are 3 lanes each way, there is only one
consistent lane (centre lane) for straight going vehicles.
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Instead have only 2 lanes on either side,
with the additional space as shoulder or
median (marked green)
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Whenever a turn is encountered, the
additional space is used to create a turning
lane (also called storage lane), as in the
examples on either side.

This way the straight going traffic can
continue unhindered. There are TWO
consistent lanes for straight going traffic.

Where turning volume relative to straight
volume is low, will result in better
throughput.

In case of underpasses, interchanges, can
be done for the 4 straight lanes, making it

consistent throughout. |
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An unsignalised intersection with a minor road

Cycle track around junction for
safety (not relevant if dual side
cycle track)
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e Similar to IRC
* Needs approx ~ 4m space each
side at intersection
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Channelizing island
~7m on a side

Storage lane length can be
| adjusted as per turning volume
~ 40m in this picture

All lanes continue
At 3.5m







